

MG Foods Finger Foods List Retail

CRUMBED & BATTERED FISH

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
BBARRA145A	Tempura Battered Barramundi 30x145gm A	4.35k	\$140.80	FF	30	\$4.69
BBFS3	Crispy Beer Battered Flathead 3kgSEAWAV	3kg	\$74.80	FF	60	\$1.25
BBFT1A	Beer Battered Torpedo Flathead 1kg "A&T"	1kg	\$28.20	FF	16	\$1.76
BFLATCRIS	Crispy Battered Flathead Bites "I&J" 3kg	3kg	\$82.40	FF	120	\$0.69
BFLOUNDA	Tempura Battered Flounder 30x100gm "A&T"	3kg	\$73.60	FF	30	\$2.45
CFLATP	Panko Crumbed Flathead Fillets "PacWest"	3kg	\$80.60	FF	48	\$1.68
CGARB1	Crumbed Garfish 80gm "BlueSky" 1kg	1kg	\$23.90	FF	12	\$1.99

CRUMBED & BATTERED SEAFOODS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
BSCALPW	Battered Tempura Scallops "Pacific West"	1kg	\$35.10	FF	40	\$0.88
BSQRA	Batt Tempura Squid Rings "A&T"	1kg	\$23.00	FF	50	\$0.46
CRPR13.15S	Cr Prawn Cutlets 13/15 "Seven Seas"	1kg	\$17.30	FF	33	\$0.52
CRPRPANM	Panko Cr Prawns (Med) "Pacific West"	1kg	\$36.40	FF	40	\$0.91
CRSQCP	Chilli Squid "Pacific West"	1kg	\$26.30	FF	36	\$0.73
CRSQPP	Crumbed Squid Rings Panko "PacWest"	4kg	\$85.40	FF	78	\$1.09
CRSQPSW	Crumbed Squid Rings Panko 1kg "SEAWAV"	1kg	\$15.90	FF	35	\$0.45
CRSQSLF	Crumbed Squid Rings Formed "Seawave"	1kg	\$15.30	FF	32	\$0.48
CRSQSPP	Salt & Pepper Squid "Pacific West"	1kg	\$25.20	FF	40	\$0.63
CSBSAT	Crumbed Panko Scallops "A&T"	1kg	\$34.40	FF	40	\$0.86

CRUMBED & BATTERED SEAFOOD PRODUCT

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
FCKS	Fish Cocktails Tempura Batt "Sealink"	1kg	\$18.70	FF	50	\$0.37
PRAWNTW	Prawn Twisters "Markwell"	1kg	\$34.60	FF	43	\$0.80

BREAD, FULLY BAKED

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
BAOBCH	Bao Buns Charcoal "Hakka" (10x30gm)	10pkt	\$6.60	FF	10	\$0.66
BAOBWH	Bao Buns White "Hakka" (10x30gm)	10pkt	\$6.60	FF	10	\$0.66

BREAD, TORTILLAS, PITTES, PIZZA BASE

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
TORTM06	Tortillas (Flour) 6" 1doz "Mission"	1doz	\$3.30	FF	12	\$0.28

CAKES, DESSERTS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
CINTA	Cinnamon Toast 1.26kg (28x45gm) "A&T"	1.26k	\$22.40	FF	28	\$0.80

CHICKEN NUGGETS & TENDERLOINS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
DINONCI	Dino Nuggets CRUMBED Breast "Inghams"	1.5kg	\$19.40	FF	75	\$0.26
DINOSS	Dino Snacks TEMPURABreastNuggets Steg	1kg	\$18.80	FF	50	\$0.38
NUGBT	Chicken Breast Nuggets Tempura "Steggles	1kg	\$18.60	FF	48	\$0.39
NUGCBR	Chicken Breast Nuggets Crumbed "Inghams	1kg	\$16.60	FF	45	\$0.37
NUGCSGF	Chicken GLUTFREE Breast Nuggets "Ingha	1kg	\$17.90	FF	45	\$0.40
NUGIFF3	Chicken Nuggets 3kg TEMPURA BR "Ingha	3kg	\$42.60	FF	150	\$0.28
TENDCHILI	Tenders Sweet Chilli "Inghams"	1kg	\$18.00	FF	18	\$1.00
TENDCHILI2	BULK Tenders Sweet Chilli "Inghams"2.5kg	2.5kg	\$35.60	FF	45	\$0.79
TENDCLASC	Tenderloins Classic Crumbed "Inghams"	1kg	\$20.00	FF	20	\$1.00
TENDDEVI	Tenders Devil Chicken "Inghams"	1kg	\$18.60	FF	20	\$0.93
TENDGFI	Tenders Chicken GLUTFREE "Inghams"	1kg	\$23.10	FF	20	\$1.16
TENDRBSAL	Tenderbites Salt & Vinegar "Steggles"	1kg	\$25.90	FF	16	\$1.62
TENDSSI	Tenders Southern Style "Inghams"	1kg	\$20.40	FF	20	\$1.02

CHICKEN PRODUCTS OTHER

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
CCI	Chicken Chips "Inghams"	1kg	\$18.30	FF	100	\$0.18
CHBGARS	Chicken Garlic Balls 40gm "Specialised"	1kg	\$24.30	FF	25	\$0.97
CHBGARSIM	Chicken Garlic Balls "CHIKO" 40gm	1kg	\$20.30	FF	25	\$0.81
CRACKBT	Chicken Breast Crackles Tempura"Steggle"	1kg	\$22.30	FF	50	\$0.45
GSTRIPCC	Chicken Strips Country Crisp "Inghams"	1kg	\$22.50	FF	33	\$0.68
GOUJB	Cr Breast Goujons "Steggles"	1kg	\$20.50	FF	62	\$0.33
KARACH	Karaage (Japanese Crispy) Chicken "Hakka	1kg	\$28.50	FF		#Error
MEDI	Medallions Teriyaki C Breast "Inghams"	1kg	\$22.10	FF	29	\$0.76
POPEMCI	Pop'Em Chicken Southern Style "Inghams"	1kg	\$19.90	FF	142	\$0.14
WDDC	Wing Dings Devil "Inghams" 1kg	1kg	\$17.90	FF	15	\$1.19
WDDC2.5	BULK Wing Dings Devil "Inghams" 2.5kg	2.5kg	\$39.00	FF	37	\$1.05
WDPC	Wing Dings Plain "Inghams"	1kg	\$18.60	FF	13	\$1.43
WDYZ	Devil Boneless Wyngz "Inghams" 22x45gm	1kg	\$24.70	FF	22	\$1.12
WNFS	Wing Nibbles Flaming "Steggles"	1kg	\$17.60	FF	17	\$1.04

DIM SIMS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
DSM	Dim Sims "Marathon"	5doz	\$24.40	FF	60	\$0.41
DSMHCM	Chicken Dim Sims "Hakka" Medium 50gm	1.25k	\$22.80	FF	26	\$0.88
DSMMB	Mini Dim Sims Beef "Marathon"	5doz	\$13.10	FF	60	\$0.22
DSMMHC	Mini Dim Sims Chicken "Hakka"	55	\$16.20	FF	53	\$0.31

MEAT PRODUCTS, CRUMBED & BATTERED

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
BCHICKH1	Battered Chicken Pieces "Hakka" 1kg bag	1kg	\$27.40	FF		#Error
BPORKH1	Battered Pork Pieces "Hakka" 1kg bag	1kg	\$27.40	FF		#Error

MEAT PRODUCTS, HAMBURGERS & YIROS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
MBALLFGC	Meat Balls: Flame Grilled Beef "Chiko"	1kg	\$20.60	FF	70	\$0.29
MBALLWAGP	Meat Balls: WAGYU Gourmet Beef "Specialt	1kg	\$21.10	FF	50	\$0.42

MISC. FROZEN FOODS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
CAMCRUML	Crumbed Camembert Cheese (50x20gm) 1k	1kg	\$48.90	FF	50	\$0.98
CAUPOPPW	Popcorn Cauliflower "Pacific West" 1kg	1kg	\$13.90	FF	50	\$0.28
MACCHEBL	Mac & Cheese Bites (28x35gm) 1kg	1kg	\$21.90	FF	28	\$0.78
ONIRBBA	Beer Battered Onion Rings Premium "A&T"	1kg	\$19.10	FF	50	\$0.38
ONIRBBN	Beer Battered Onion Rings "Noys"	1kg	\$14.30	FF	60	\$0.24
ONIRBE	Battered Onion Rings "EDGELL"	1kg	\$15.90	FF		#Error
ONIRCRA	Crumbed Panko Onion Rings "A&T"	1kg	\$20.10	FF		#Error

PIES, PARTY PIES & PASTRIES

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
PASTIZSF	Pastizzi Mini Spinach & Feta 24pk Marath	720g	\$11.10	FF	24	\$0.46
PPASP	Party Pastie "Patties" 6doz	6doz	\$73.40	FF	72	\$1.02
PPIEP	Party Pies "Patties" 6doz	6doz	\$72.20	FF	72	\$1.00
PSROLLP	Party Sausage Rolls "Patties" 6doz	6doz	\$73.40	FF	72	\$1.02
QUICHEPC	Quiche Party Combo Pack "Patties" 6doz	6doz	\$114.80	FF	72	\$1.59

POTATO CAKES

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
PCAKEMMP	Baby Mini Potato Cakes PLAIN 1kg "Moka"	1kg	\$13.10	FF	62	\$0.21
PCAKEMMSV	BabyMini Potato Cakes Salt&Vin 1KG"Moka	1kg	\$13.10	FF	62	\$0.21

POTATO PRODUCTS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
EPGEM	Edgell: Potato Gems	2kg	\$12.10	FF	210	\$0.06

POTATO WEDGES

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
MCSW	McCain: Seasoned Wedges	2kg	\$12.90	FF		#Error

SPRING ROLLS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
COCKSAMH	Cocktail Samosas "Hakka"	8doz	\$17.50	FF	96	\$0.18

COCKSPRH	Cocktail Mini Spring Rolls "Hakka"	8doz	\$17.50	FF	96	\$0.18
SRBEEFM	Mini Spring Roll Beef "Marathon" (20)	1kg	\$11.80	FF	20	\$0.59
SRRD	Mini Spring Roll "Royal Dragon"	2doz	\$27.70	FF	24	\$1.15

VEGETABLES (FROZEN)

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
EVR2RCO	Mini Corn Cobbs Ready to Roast"Edgell	2kg	\$14.50	FF	48	\$0.30

SMALLGOODS, FRANKS & SAVELOYS

Code	Product	StockUnit	Price	Cat.	Ave Portions	Cost Per Portion
FRANKCKR	Frankfurts Cocktail "Dons" 2.5kg	2.5kg	\$26.30	FF	100	\$0.26